Problem 1: Fingthe power absorbed or supplied by the element.
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Problem 2: Find the power absorbed or supplied by the element.
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Problem 3:
a) Findis.
b) Find the power absorbed or supplied by element 3.

c) lselement3asourceora sink?
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Problem 4: (Power balance)
Assume P, =10W, P,=30W, P;= -5 W.
Find the power absorbed or supplied by element 4. Is it a source or a sink?
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Problem 5: (VCCS)

Find i;.
Is current flowing from b to c or from c to b? Sy Jukion kirchhoff ‘s cwrrent fa,
5\/0.{, +3p A = &'
30A
<< c Vae = =4V,
“Deo+3%0= 1,
wi=|l2A

Ozz LEVae = -20 A
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Problem 6: (CCVS)
Find iy, i,.
Find V, .
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Problem 7: (VCVS)
Find V,.
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Problem 8: (CCCS)
Find i,. , G, fukivn kichwﬁVs cwirent Jao
5+ 0+ ut| = 8,

biy= 6
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